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QUESTION 1

You are establishing a Layer 3 VPN between two PE devices. Currently you have a single internal IPv4 BGP peering
between the PE devices. You must ensure that the IPv4 and IPv6 routes from both CE devices are exchanged between
these sites. 

Which two statements are correct in this scenario? (Choose two.) 

A. You must enable IPv6 tunneling on the LSPs between the PE devices. 

B. You must establish an IPv6 BGP peering between the two PEs. 

C. You must enable the inet6-vpn NLRI on both PE devices. 

D. You must enable the inet-vpn NLRI on both PE devices. 

Correct Answer: CD 

 

QUESTION 2
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You are using EVPN to provide Layer 2 stretched VLANs between two sites. You notice that the MAC addresses in
either site are not showing up on the remote site. 

Referring to the exhibit, what are two ways to solve this problem? (Choose two.) 

A. On R1, issue the set switch-options vrf-target target:65101:22030 command. 

B. On R2, issue the delete protocols evpn vni-options vni 22030 command. 
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C. On R2, issue the set switch-options vrf-target target:65101:22030 command. 

D. On R1, issue the set protocols evpn vni-options vni 22030 vrf-target target :65101:22030 command. 

Correct Answer: AC 

 

QUESTION 3

Referring to the exhibit, you want to make ISP1 your preferred connection for inbound and outbound traffic. 

Which two steps will accomplish this task? (Choose two.) 

A. Create an export policy setting local-preference 200 and next-hop self and apply it to the IBGP peers on R2. 

B. Create an export policy to prepend the ASN on advertised routes and apply it to the EBGP peer on R1. 

C. Create an export policy to prepend the ASN on advertised routes and apply it to the EBGP peer on R2. 

D. Create an export policy setting local-preference 200 and next-hop self and apply it to the IBGP peers on R1. 

Correct Answer: CD 
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QUESTION 4
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Referring to the exhibit, a Layer 3 VPN is configured, however, the routes are being hidden. 

What is the problem? 

A. The BGP peer is not reachable through the IGP. 

B. An active MPLS tunnel does not exist between the peers. 

C. A route distinguisher mismatch exists between the peers. 

D. A VRF target community mismatch exists between the peers. 

Correct Answer: B 

 

QUESTION 5

The exhibit shows a BGP peering session for two PE routers. The BGP session is up, but the hosts in the Layer 2 VPN
that uses the BGP session are unable to communicate. 

What is the problem in this situation? 

A. The BGP peer does not support the add-path feature. 

B. There is a mismatch in the supported NLRI address families between the BGP peers. 

C. The local BGP router does not support Layer 2 VPN and Layer 3 VPN NLRI address families at the same time. 

D. The BGP peer does not support the restarter functionality. 
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Correct Answer: B 
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